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1) Find two positive numbers whose product is 192, and the sum of the first plus three times the
second is a mlmmum

Ky= 192 \4:X+—3?
= 1 2-
5_,.|°i?-— | M= X+ 3 )

MA-I—-—-—KQ%57C0XI

ﬁ%% LXMW - S

S XZ‘— - -
2) Aright trlangle is formed in the 1°t quadrant by the x- and y- axes and a line through (1,2).
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b) Find the vertices of the triangle such that its area is a minimum.
= m=d-y_2=0 (o)
fr= ﬂ =0 " [—X & (1,2)
= - A = A
A A x( =25 \Lj T |-x 4
— X~ S
A= —x>  x*5 . = ; X (%0
- = = — O,
|-x 7 x—| Y. e
dA (x-(3x) = (<D — —| /
- (XJO - \(j = _“__é}‘_. = o) f‘*k}
JdA  ax % g —x> = (1 -x)
= ~ —g+& ax

dx — ik ﬂ"
dA R N

dx = ZK"[)Q‘ —r-a?x o \(j:: ——_Icg\:—
x()( =) =0 X

>< =
- +-=
4_._. o /_\].__.*wfa—gfz IR

o | &,
pic B e (0.4

Generated by CamScanner



